
Math 113, Prep 5.4: Indefinite Integrals and the Net Change Theorem

Name: Section:

Names of collaborators:

Main Points:

1. The indefinite integral

2. The net change theorem

1. The Indefinite Integral

The indefinite integral is a new notation for an old concept: the family of antiderivatives of a function. For
example, the family of antiderivatives of cosx is sinx + C where C is any constant. We now notate this in
the following way: ∫

cosx dx = sinx + C

Note: The definite integral is a number; the indefinite integral is a family of functions.

Note: The reasoning behind this notation is that antiderivatives are connected to definite integrals via the
fundamental theorem of calculus.

Exercise

1. Evaluate the indefinite integrals:

(a)
∫

3ex + 5 dx

(b)
∫

2x2 + 5x−6/5 dx

(c)
∫

secx tanx− (sinx)−2 dx
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(d)

∫
u2 + u + 1√

u
du

(e)
∫
w−1(w3 + 1) dw

(f)

∫
1√

1− x2
dx

2. The Net Change Theorem

Recall that the accumulated net change in a quatity Q over any time interval [t1, t2] can be written as a
definite integral of its rate of change r(t):

∆Q =

∫ t2

t1

r(t) dt

This is the net change theorem.

Exercises

2. (a) If flow rate r(t) has units gallons per hour, and t has units in hours, then what are the units of∫ 100

0
r(t) dt ?
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(b) If electricity costs f(t) dollars per day, and t is measured in days, then what does
∫ 30

0
f(t) dt

represent, in terms of electricity?

3. The graph below shows the rate of growth of two trees. If the two trees are the same height at time
t = 0, which tree is taller after 5 years? After 10 years?

4. Height velocity graphs are used by endocrinologists to follow the progress of children with growth
deficiencies. The graph below shows the average height velocity curves for boys and for girls between
ages 3 and 18. (a) Which curve is for girls and which is for boys? How can you tell?

(b) About how much do boys grow between ages 3 & 10?
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(c) The adolescent growth spurt occurs between ages 12 and 15 for boys and between ages 10 and
12.5 for girls. Estimate the height gained by boys and the height gained by girls during their
growth spurt.

(d) When fully grown, about how much taller is the average man than the average woman? (The
average boy and the average girl are about the same height at age 3.)
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